" Chemistry 11 Review |
Do not forget Significant digits and units {Q/\M ijf/m

Name:

1. Differentiate between atomic mass and the molecular mass O
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2. How many significant figures are in each of the following: :
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3. Calculate the number of carbon atoms in 12.0 g of carbon?
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4. Classify the reaction:
Fe + 3CuCl -—--> 3Cu + FeCl3 + heat
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5. Balance the following equation Tesulting from the combustion of pentane:

_ CsHizg + DOz > 5002 + o H20

V 6. The following data were obtained from'a chemical analysis:
Carbon 38.7%  Hydrogen 9.7%  Oxygen 51.6% #

The empirical formula for the compound is...
a. CHO b. CH20 @HSO d. CH40 e. CH50™

7. A piece of copper wire is left overnight in a 0.25M solution of silver nitrate. The
solution turns blue in colour [from the copper (II) ionl, and silver metal is deposited in the

flask. Calculate the minimum amount of copper wire needed to produce 27 g of silver in
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8. Calculate the number of moles of a gas that will ocj:cup}; a 5.00 L flask at 1
20.0°Cis (R = 8.31 L kPa/K mol )? Con S ‘
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9. Calculate the number of grams of KNO3 required to make 1.00 L of a 0.400 M KNO3
solution?

m@\\ - \\'\mL . Quu@:’)mg\(l(}ih\% -
' = <;'),&t’?5bw\(b SO o 7

) JHOD «r!\c);

0. kPa and™




10. 2.00 L of 12.0 M HOl is diluted to 6.00 L. What is the new HCl solution
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11. Of the following elements; the most reactive would be...
a. Li b. Na Ve Cs ) d. Be e.Ra '
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12. You have 120 mL of a 0.40 M MgS0y4 solution. What is the amount of water /ﬁhat
must be added to make this a 0.10 M MgSO4 solution? -
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13. The correct formula for the compogfndi@j}g@osphorous iiiéf/i‘oxide is...
a. POg b. POy c. P(Oge2 < d. P204“‘> e. 2P0
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14. 2AgNO3(..+ CaClz, > 2AgCl,+ CaiNOs)z \
—J .
This equation represents the reaction of aqueous silver nitrate and aqueous calcium
chloride to produce silver chloride which is insoluble in water (calcium nitrate is soluble
in water). What isthe net ionic equation for this precipitation reaction? . ﬁ
a. 2Ag+ (ag) + 2NOs- (ag) + Ca?+ (ag) + 2CI- (ag) ---> 2AgCl(s) + Ca(NO3)z (aq) - I

b. Ca2+ (aq) + 2NOs- (aq) -—-> Ca(NO3)2 (aq)

P

(7 o)2Ag+ (aq) + 2CI- (ag) -—-> 2AgCl (s)
“d. 2Ag+ (aq) + 2NOs- (aq) ---> AgNO3 (s)

e. CaZ+ (ag) + 2Cl- (aq) ---> CaClz (s)

15. 5.0 g of :HCI (aq) are reacted with 5.0 gof KOH (aq), @aléulate the mass of
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16. If 42.26 mL of a 0.362 M NaOH solution are need to neutralize 50.00 mL of a HCl
solution in an acid-base titration, what is the molarity of the acid? <
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